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1. 3R x% + x+1=0%, a& x199 4+ x200 , ,201 4. 79 wifT $=(234,5679 8 S @
1 HH 1 87 3-3F fhaft fim v=d (R aft i
i &) 1€ s gt €, St 500 A B Y

(@ -1
(a) 30
(b) 0O
(b) 49
1
i () 90
d 3
(% (d) 147
2. 4R x, y, z IR 3 (GP) # &, @ Fr=fafea x Sy 2
R Y T E "igg; R ANLENPY St =n
1. In(3x), In(3y), In(3z) TR A (AP) '
g (@ 10" p
2. xyz+In(x), xyz+In(y), xyz+In(z) =
TF 43 (HP) # ¥ U\ adbt
#1% R T e w1 M W v IR g S fo
o Sy (d 10" p+1
&) a2 6. fiuma wfte
(c) 1 3R 2 M

3x2 - (k2 +5k)x+3k%2 -5k =0

(d) A4 132 ¥ wam ufwm ok Righa fg 99 arafas

et % | Frerferfaa § @ Fe-a w8 37

3. AR logp2, log;pR* -1, logol* +3) (@ 0<k<>
wAiR @ (AP) § F, A x Fowds wwa ¥7 2
(@ 0 (b) FaE o<k <-‘;i
(b) 1
(c) §<k<§
(c) logy5 e
(d) logs?2 (d) k1 Q@ HIE AE TE R
DFGT-D-TMS/1A 2
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1. If x?2 4+ x+1=0, then what is the value

of Jc199 +x200 +x201?

(a) -1
() O
(c) 1

(d) 3

2. If x, y, z are in GP, then which of the
following is/are correct?

1. In(3x), In(3y), In(32z) are in AP

2. xyz+In(x), xyz+In(y), xyz+In(2z)
are in HP

Select the correct answer using the
code given below.

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

3. If log;g2, log;oR* - 1), log;o(2* +3) are
in AP, then what is x equal to?

(@ O
(b) 1
(c) log, 5

(d) logs?2

DFGT-D-TMS/1A

4. Llet S={234,567 9. How many
different 3-digit numbers (with all digits
different) from S can be made which
are less than 5007

(@ 30
(b) 49
{¢) 90
(d) 147

5. If p=(1111---up to ndigits), then what is
the value of 9p2 + p?
(@ 10"p
(b) 2p-10™
() 10"p-1

(d 10"p+1
6. The quadratic equation

3x2 - (k2% +5k)x+3k%2 -5k =0

has real roots of equal magnitude and
opposite sign. Which one of the
following is correct?

5
a) O<k<—
(a) 3

(b) 0<k<§only
3

5
el e
(c) 5< <3

(d) No such value of k exists

[ P.T.O.
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7. A% a, =n(n!) 3, @ a, +ay +az +---+ap

Forees s 7
(@ 10!-1
(b) 111+1
(¢) 101+1

(@ 111-1

8. R p I g, THFW x2+px+q=0 F

TR g B, @ g F T 99158 71 @ w6
. i)

9. fe

(@ T3
(b) TH
(c) A
(d) =
agr'b e
A=|d e [
g h i
g,

3d+5g 4a+7g 6g
3e+5h 4b+7h 6h
3f+5i 4c+7i 6i

fopersh s 87

(@) A
(b) 7A
(c) 72A
(d) -72A

DFGT-D-TMS/1A

10. 3f?

1 1 L
b+c c+d a+b

wWeas ¢l (HP) § 8, @t Fafafea 3 |

PH-91/F-F T B/87

1. a, b, c @9I® 3 (AP) | ®

2. (b+9?, (c+a)?, (@+h)? T A
(GP) # &

9 fog T 2 F wEr W wEd IR g
(@) Fad 1

(b) FaE 2

(¢) 1 3R 23

(@ Fd@13Rad2

11. 3R

R, W aeNE @
A100 _ 250 _ 5425
Torees s 27
(a) =21
(b) -I
(c) 2I
(d I

Wl I deans e 2
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7. If a, =n(n!), then what is 10. If

a; +ay +az +--+ap 1 1 1
b+c c+a a+b
equal to?
(@ 101-1 are in HP, then which of the following
is/are correct?
(b) 111+1
1. b, c are in AP
(¢ 101+1 %
2. (b+92, (c+a)?, (@a+b)? in GP
(d 111-1 (b+9*%, (c+a)*, (a+b)“ are in

Select the correct answer using the

8. If p and q are the non-zero roots of code given below.

the equation x2 + px+q=0, then how

many possible values can g have? (@) 1 only
(@ Nil (b) 2 only
() One (¢) Both 1 and 2
o 1w (d) Neither 1 nor 2
(d) Three
11. If
9. If
a b . c A= [(1) (:]
A=|dl ewf
g h 1

where a € N, then what is
then what is

AIOO _ASO —2A25
3d+5g 4a+T7g 6g

3e+5h 4b+7h 6h

equal to?
3f+5i 4c+T7i 6i
-2
equal to? @ f
-I
A (b)
(c) T72A (@ 1
(d) -72A where I is the identity matrix.
DFGT-D-TMS/1A 5 [ PT.O.
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12.

13.

Ife

a -b a-b-c
-a b -a+b-c
-a -b -a-b+e

—kabc=0

@#0,b#0,c#0)
R, @ kw1 A w0 RY
'
(b) -2
(c) 2
(d 4

8n+7

Y, i" frus auar R, wwli= Vo1 R7
n=1

(@ -1
(b) 1
(€ i
(@ -i

14. R z=x+iy 8, &l i=+~1 B, @ whwm

zZ+|2% +4(z+2)-48=0
EZGIR

(@) | @

(b) TETH

() 9
(d) | @i 139

1 Tefya

15. f=foflas & @ F9-91 2a+2Va? +b2 &

A 8, &l @, be R 87
(a) Ja+ib+-Ja-ib
(b) Ja+ib-+a-ib
(c) 2a+ib
(d) 2a-ib

el i=J-1%I

DFGT-D-TMS/1A

. At w0 ax? + bx +c= 0 % T sin® 3N

cosH &, d frafafaa # @ - @ &7

(@ a?+b%-2ac=0

() -a?+b? +2ac=0

(¢) a?-b2+2ac=0

(d) a?+b? +2ac=0

17. 3} C(n,4), C(n, 5) IR C(n, 6) TR A

(AP) ® %, @ n 1 HE F41 87
(@ 7
(b) 8
€ 9

(@ 10

18. a9 ‘LUCKNOW ¥ & 31l &1 940 &

(o grgfe %) @ @@ 4-a9m T
o v (Sredpel a1 Fedfe) &g < W §7

(@) 240
(b) 200
(c) 150

(d 120
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12, If 16. If sin® and cos6 are the roots of the
equation ax? +bx+c=0, then which
one of the following is correct?

a -b a-b-c
-a b -a+b-c|-kabc=0

-a "b —a—b+c (a) a2+b2"‘2ac=0

(@0, b#0,c#0)
then what is the value of k? s
(b) —-a“ +b*“ +2ac=0
(@ -4
(b) -2
(c) a? -b? +2ac=0
() 2
(d 4
(d a?+b?+2ac=0
8n+7
13. Whatis Y i" equal to, where i=+-1?
n=1
(@ -1 '
17. If C(n,4), C(n, 5) and C(n, 6) are in AP,
(b) 1 then what is the value of n?
(e) 1
7
@ - y’
: ; (b) 8
14. Ifz = x +iy, where i = J~1, then what does
the equation zZ+|2|°+4(z+2)-48=0 ) 9
represent?
. - (d) 10
(a) Straight line
(b) Parabola
(c) Circle 18. How many 4-letter words (with or
(d) Pair of straight lines without meaning) containing two
vowels can be constructed using only
15. Which one of the following is a square therdle';f{j? KI(~I“S$E?N repetition) of the
root of 2a+2va? +b?, where @ be R? Ve
(@ Ja+ib++Ja~-ib (a) 240
(b) Ja+ib—-+a-ib (b) 200
(c) 2a+ib
d) 2a-ib 9 e
where i =+/-1. (d) 120
DFGT-D-TMS/1A 7 [PTOL
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19. #H Wi TF g9 W 20 fim fag aefss w1 21. k% & et & fog wedfte e

ﬁ@ﬁ%lmﬁﬁﬂ?—m/ﬁ?-ﬂm 2k2x+3y—1=0, 7x_2y+3=0,

@ R/&7 6kx+y+1=0
1. 7@ @ Tl @ fagedl =t shgaw = wn T 27
A aTell We W@l i §&qn 380 # N 3+ 11
2. T A el di fagell B e wm 10
ST Hh aTel P ) w= 1140 R (b) 21+/161
10
= fa T gz w1 e R wd 3w g (c) 3?:?
(@) ¥ 1 (@) ”{?—1
=
14
(c) 1 3R 23 248
- TR W&gA T T @1 A foress soem R7
1 2
(d FW1INAHN 2 (@) 3 4]
4 b
®) -3 4]
21 [ '2
20. [E_;%wJ ¥ forem 3 Foet 2 &, el % -4]
b a A
0, b#0%? B
a# 0% (d) 3 4]
() 21 23. %1 f(x)=In2+sin? x) & AEdEE T
=7
(b) 22 n
(a) 2
(c) 42 (@) =
(c) 2=
(d) 43 (d) 3n
DFGT-D-TMS/1A 8
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19. Suppose 20 distinct points are placed 21. For what values of k is the system of
randomly on a circle. Which of the equations

following statements is/are correct? 2
2k“x+3y-1=0, 7x-2y+3=0,

1. The number of straight lines that 6kx+y+1=0
can be drawn by joining any two of

these points is 380. consistent?
3+411
2. The number of triangles that can be e
drawn by joining any three of these
points is 1140. (b) 21+4/161
10
Select the correct answer using the 347
code given below. (c) T
4 +J11
(d)
(a) 1 only 10
(b) 2 only 22. The inverse of a matrix A is given by
(c) Both 1 and 2 [‘g 11]
2 4
(d) Neither 1 nor 2 What is A equal to?
( 'L, 2
Y 13 4
20. How many terms are there in the N
expansion of =
(b) -3 4 ]
o
21
a? b2 (c) 3 _4]
—+—+2 L
B -1 2
@ | 2|

where a# 0, b#0?

23. What is the period of the function
flo)=In@+sin? x)?

(@ 21
mn
() 22 2
(b) n
e d (c) 2mn
(d 43 (d) 3n
DFGT-D-TMS/1A . ] [ P.T.0.
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24. IR sin(A+B)=1 3R 2sin(A-B)=1 %, 28. M AT 0< x, y z< 1% e
GTE-'TO<A,B<%%,?ﬂtanA:tanBﬁ?Hai

sin~! x +sin™! y+ sin"lz= 3n
2
TR 27
{a} g %| xlDOO +y1001 +21002 ih‘rtlﬂ?ﬂl%?
(b) 2:1 ' (@) O
fC) 158 {b} 1
(d 3:1 . 8
25. iogmaﬂaréqaﬁmaggamﬁan?ﬁﬁm (d) 6
3 ¥ fogalt A frame fven e s =0
T 8, R o oft oo, wgue 1 uwn 29. T ST W x, ye R F Ry
waE TE 87 .
sinx +siny=cosx +cosy
(a) 25
(b) 50 %ltan[%»rg]ﬁﬂﬁ;m%?
c) 75
@ 100 g
(b) 2
26. TiFW x* -10x% +9=0 ¥ wf Iafaw © 2
el | faEr At g6t % fag aE &=
e a1 7 (@) 22
(a) 4
b 6 30. WA oS
(c) 8 A=[_g ﬁ] AR (mi+na)? =4
(d 10

?, SI&l m, n WATHF EafyE G § Q9 1

27. (1+x" % R w faaw Hifte) 7@ i TCETF IR B | (m + n) Thad swam 27

p,q,raﬂ'(sm:q??'ﬂ,@ﬂ,rﬂf&ﬂ'(

(n+ 18T W& % T ¥ (ps + gr) FRaH wOR @ ©
¥ 3

(b) —
(@ 1+2n 2
(b) 1+ 2n? ) 1
() 1+n? s 3
({d 1+4n 2

DFGT-D-TMS/1A 10
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24‘

If sinfA+B)=1 and 2sin(A-B)=1,

where 0< A B< g, then what is

tan A: tan B equal to?
(@ 1:2
(b) 2:1
e) 1:3
(d 3:1

25. Consider a regular polygon with 10 sides.

What is the number of triangles that
can be formed by joining the vertices

which have no common side with any of

the sides of the polygon?

28. Let

s'm'1

i =1 R | 3n
x+sinly+sinTlz="x

for 0< x, y z< 1. What is the value of

51000 y1001 + 210025

(@) O

(b)
(c)
(d)

1
3
6

(a)
(b)
(c)
(@

25
50
75
100

29, Let sinx+siny=cosx+cosy for all
x, y€ R. What is tan[gwg] equal to?

26. Consider all the real roots of the equation

x* -10x2 +9=0. What is the sum of
the absolute values of the roots?

(@ 4
(b) 6
(c) 8
(d 10

27. Consider the expansion of (1+x)". Let

p, q r and s be the coefficients of
first, second, nth and (n+1th terms
respectively. What is (ps +qr) equal to?

(a) 1+2n
(b) 1+ 2n?

fc) 1+ n?

(d) 1+4n

DFGT-D-TMS/1A

11

(@ 1
(b) 2
(c) 2
(d 242
30. Let
[0 2 o
A-[_z 0] and (ml+nA)? =A

where m, n are positive real numbers
and I is the identity matrix. What is
(m + n) equal to?

(@)

0

(b)

B =

fe) 1

(@

N w

[P.T.O.
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31. cot[sin‘lgi»cot‘ngaﬂﬂﬂim%? 34. Wik x°-8=0 ¥ W@l ¥ waw F

Frafefaa oAt @ fmm Hift .
ta) .8 1. Wd FRa g
- 2. W, U B 9 99 w fRm #)
) I FoET A P/ T
16 ’
(@) a9 1
(c) % (b) FaHA 2
(c) 1322
@ 17
6 ) (d Fad13rad2

35. WA iy @O secx - cosecx = p F TH

32. WM ST 4sin? x=3 &, S& 0<x<n % W%,ﬁpmwmﬁ%@w%lp

tanSxﬁi’Ha?W%? ‘m"lagawmm?nn?
=9

& (@) %

(b) -1

(c O (b) 1

(d 1 (c) 2

(d) =" " * e 7@ ®

33. WM #ifWY p, q 3R 3 TF wHIw A (AP) ¥
m:w;w,?ﬁmaﬂw’ha’fqa%mmwﬁq 36. 0 % f5m wm ¥ R, v 0<0<® 2,
d ¥/ @ 2| AfE AR (pg) FAaw B, @ d 2

1 W T R? sin® + sin®cos® AfEHaH 7 WH HTar &7
Kt @ 7
(b) -g (b) g
© 5 © %
@ 3 @ %
DFGT-D-TMS/1A 12
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31. What is the value of the following? 34. Consider the following statements in
respect of the roots of the equation
ccﬁt[sin‘I & +cot ™! E] x3-8=0:
5 2

1. The roots are non-collinear.

(@) 6 2. The roots lie on a circle of unit
17 radius.
7 Which of the above statements is/are
(b) 16 correct?
(a) 1 only
16
() 2 (b) 2 only
(¢ Both 1 and 2
17
(d) 6 (d) Neither 1 nor 2

35. Let the equation secx-cosecx = p have

32. Let 4sin? x =3, where 0< x<n. What a solution, where p is a positive real
is tan3x equal to? number. What should be the smallest
value of p?
(@) -2 1
fa) —
(b) -1 %
(g O (b) 1
(@ 1 ) 2

(d) Minimum does not exist
33. Let p, g and 3 be respectively the first,
third and fifth terms of an AP. Let d be

n
the common difference. If the product 36. For what value of 6, where 0<6< oY
[;;q)dl?s minimum, then what is the value does sin +sinBcos® attain maximum
= value?
(@) 1 n
a o
(@) 5
3
(b} o T
8 o
(b) 3
9
(e 3 5 R
8 (c) 3
9 m
d) — d). =
(d) 7 (d) 3
DFGT-D-TMS/1A 13 [ P.T.O.
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37. 9= ¥ wai #§ f=fofed womi w fEw 39. Hadl 3R Forl & wef A Frafafas o w

Eﬁ'ﬁ‘t’.- ﬁlﬁ'l’(ﬁﬁl‘tl:
1. W=l %GR8 R affher S B 1. of 49y, %oa & AfF o wom, day
T 2
. 2 eyl % wften .
i wua‘ﬁuj TELITR ET6 2. AW B %I oft §9y Frdig R Ax B
1 99T B
3. AR A Wyl AW A wE F 3. A% it Gay FEE H Ax A H
TR R, N A FY=T A A S 3 e
I FE A D T@ B I ol A R B @ R
(@) Faa 132
(a) Fae 1 3R 2 (b) ¥ 2 3 3
g o (c) Faa 133
(d 1,23R3
(c) ae 133
40. 3R log,;21log, 10 +log;((10%) =2 &, @ x
@ 1,233 1 HH F R
(@ O
(b) 1
38. d9 wg=m X, v 3R z W famw i, R (c) logy10
FAU: 6, 5 3R 4 F9d 1 F wft 15 awa B 1ow.
(d) logs
i 81 7m iy S=(x=Y)uzZ %I s &
T 3fera sqag=a €7

41. WH i ABC T fis 81 IRk
(@ 255 co0s2A +cos2B+cos2C = -1
2, o Fr=fefaa # @ #w-a1 vd@ 27

() 256 (a) sinAsinBsinC=0
(b) sinAsinBcosC=0
{c) 1023
(c) cosAsinBsinC=0
(d) 1024 (d) cosAcosBcosC=0
DFGT-D-TMS/1A 14
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37. Consider the following statements in
respect of sets :

1. The union over intersection of sets
is distributive.

2. The complement of union of two
sets is equal to intersection of their
complements.

3. If the difference of two sets is
equal to empty set, then the two
sets must be equal.

Which of the above statements are
correct?

(@) 1 and 2 only
(b) 2 and 3 only
(¢ 1 and 3 only

{d 1,2 and 3

38. Consider three sets X, Y and Z having
6, 5 and 4 elements respectively. All
these 15 elements are distinct. Let
S=(X-Y)uZ. How many proper
subsets does S have?

(@ 255
(b) 256
() 1023

(d) 1024

DFGT-D-TMS/1A

15

39. Consider the following statements in

respect of relations and functions :

1. All relations are functions but all
functions are not relations.

2. A relation from A to B is a subset
of Cartesian product Ax B.

3. A relation in A is a subset of
Cartesian product A x A.

Which of the above statements are
correct?

(a) 1 and 2 only
(b) 2 and 3 omly
(¢ 1 and 3 only
(d 1,2 and 3

40. 1f log,,2log, 10+1og;((10%) =2, then

what is the value of x?
(@ o

(b) 1

(c) log, 10

(d) logs2

41. Let ABC be a triangle. If

cos2A +cos2B+cos2C= -1

then which one of the following is
correct?

(a) sinAsinBsinC=0
(b) sinAsinBcosC=0
() cosAsinBsinC=0

(d) cosAcosBcosC=0

[P.T.O.
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42. wrfrs (feefife) 46. 3F 3, 5, 7, 9 W =R Hifw) 7 =t F

cosC tanA 0 5-31 Wt ot weard = W w3,
sinB 0 -tanA 5 @ 9 R st A A v i e
0 sinB cosC
1 HH 997 87 (@) 240
(@ -1
G (b) 180
(c) 2tanAsin BsinC © 120
. (d) -2tanAsin BsinC
43. WM WY W= A § vat 250 wegorie U (d) 60
S 3 % o § ok wg== B ¥ wea 200 @w
uTquts §1 AU BH oy sragg §7
iy, 24 47. YA et fm oo &, Rl @l W)
(b) 364 wfafEal {1, 2) @ o 7€ &7
(c) 384
(d) 400 fa) 16
44. 7H R 5. fFeft TR 3 (AP) F e &
W % ded @ zwia §, @ %0 (b) 24
S20 = Sio
o st 27 c) 32
(@ 1
(b) 2 (@ 48
() 3
(@ 4
45. 32 wefso : 48. MR i=J-1% A P nez ¥ Rwi2 %
4x2 ~(5k + 1)x + 5k = 0 b wr &7
% el § uF w W D, A PR § @
FH-F1 k F TH G919 qH 27 @5
(a) -3
)1 (b) A
1
(c) % (c) =R
G .
5 (d)
DFGT-D-TMS/1A 16
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42. What is the value of the following 46. Consider the digits 3, 5, 7, 9. What is

determinant? the number of 5-digit numbers formed
by these digits in which each of these
four digits appears?

cosC tanA 0

sinB 0 -tanA
0 sinB cosC
(@) 240
(@) -1
(b) O (b) 180
(c) 2tanAsinBsinC
(d) -2tanAsinBsinC () 120

43. Suppose set A consists of first 250

natural numbers that are multiples of (d) 60

3 and set B consists of first 200 even

natural numbers. How many elements

does AU B have?

(@) 324 47. How many distinct matrices exist with
all four entries taken from (1, 2}?

(b) 364
(c) 384
(d) 400 $ °
44, Let S, denote the sum of first k terms of (b) 24
an AP. What is —332— equal to?
0 ~ *10 (c) 32
(@) 1
(b) 2 (d) 48
) 3
(@ 4
45. If the roots of the equation 48. If i =+/-1, then how many values does

—2n .
4x2 —(5k+)x+5k =0 i have for different ne Z?

differ by unity, then which one of the

following is a possible value of k? (@) Onme
(@ -3
(b) -1 (b) Two
1
(@ _E (c) Four
3
o S ,
5 (d) Infinite
DFGT-D-TMS/1A 17 [ PT.O:
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b-c 4 c-a a-b
day S-en o

M1 1 —y|w AR TR
150 i 1

(@ O

(b) 1

(c) abe

(d) ab+bc+ca

It
A= 1 1
11

% gay # Frefafed w fem it
1. A% wfoem =1 sfena 78 2
2. A=A

50. 37§

[ S S —

3. 3A=A2

S # | FH-4 wE 87
(@) Fa@ 1 ¥R 2

(b) Faa 2 3R 3

(c) Faa 1 3R 3

(d 1,23R3

DFGT-D-TMS/1A

v : o am A 2 (02) weie ¥ for RefrRas w
foam Hifs

T 9 45 (5, - 8), (-2 9) 3R (2, 1) ¥ B T B
51. I % ¥ ¥ frdwres =1 §7

(@) (-2 -50)

(b) (50, -20)
(c) .(-24,-58)
(d) (-58 -24)

52. IR g9 i Bow 7 2, @ Fefafes 3§ @ #9-T
el 27

(fa) r<10
(b) 10<r<30
(c) 30<r<60

(d) r>60

18
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49, If Direction : Consider the following for the next
two (02) items that follow.

A circle is passing through the points (5 - 8),
(-2 9) and (2 1).

51. What are the coordinates of the centre
of the circle? -

= X
! P )
il b S | (a) (-2 -50)
-0 (b) (-50,-20)
(b) 1
(c) abe (c) (~24, -58)
(d) ab+bc+ca
(d) (-58 -24)

50. Consider the following in respect of the
matrix

—
e

52. If r is the radius of the circle, then

1. Inverse of A does not exist which one of the following is correct?

2. A=A
3o e AR (a) r<10

Which of the above are correct?
(b) 10<r<30

(a) 1 and 2 only

(b) 2 and 3 only (c) 30<r<60

(¢ 1 and 3 only

(d 1,2 and 3 (d r>60

DFGT-D-TMS/1A 19 [P.T.O.
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TS : ot o A 77 (02) weinl ¥ R FrafiRea w 3w : 3 o 91 77 (02) weEl ¥ fore Frafifaa w
foam Hifs) famm #ifst)

U WA 9GS ABCD % o wumra whel % Fiswis
T warg Ayge % 2@ 3 (0, 0) 3w (2, 2) & A(1 3), B-1, 2 3R C(3 5 %

55. fawol BD %1 wefiaor ¢ 7
(@ 2x-3y+2=0

53. Fmfafas wei w fer fifv
1. d® W = wm-A-ww w v

i B
e SRy (b) 3x-2y+5=0
7 W (c) 2x-3y+8=0
I Tl A § BT/ T /A (d) 3x-2y-5=0
56. TR TGS F GABe 1 £7
(@ a1 B\
3
(b) ¥ 2 (b), =
2 71
(c) 1 3R 23 (c) 5 THTS
(d) Eaﬁmé
i W Fdwr : o am I 7 (02) weiEH F R Fefifea
R foamr Hifsg)

@ By ABC i ywnsit AB, BC 3R ca ¥ wdiEm
PN x-2=0, y+1= 0T x+2y—4 = 0 |

54. e ¥ F Frdwient &1 e g 27 57. ACW B ¥ e =1 arfiao =y 37
(@ x-3y+1=0
(@0 (b) x-3y+4=0
(¢) 2x-y+4=0
(b) 3 (d 2x-y-5=0
58. e % ufhz % Pdwris @0 §2
(¢ 242 (@ (4,0)
(b) (2, 1)
(c) (0, 4)
(d 2J3 @ (2,-1)
DFGT-D-TMS/1A 20
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Direction : Consider the following for the next
two (02) items that follow.

The two vertices of an equilateral triangle are
(0, 0) and (2, 2).

53. Consider the following statements :

1. The third vertex has at least one
irrational coordinate.

2. The area is irrational.

Which of the above statements is/are
correct?

(a) 1 only
(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

54. The difference of coordinates of the third

vertex is

(@ O

b) 3

(c) 2v2

(d) 2J3

DFGT-D-TMS/1A
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Direction : Consider the following for the next
two (02) items that follow.

The coordinates of three consecutive vertices
of a parallelogram ABCD are A( 3), B(-] 2)
and C(3, 5).
55. What is the equation of the diagonal BD?
(@ 2x-3y+2=0
(b) 3x-2y+5=0
() 2x-3y+8=0
(d 3x-2y-5=0

56. What is the area of the parallelogram?

(a) 1 square unit

(b) % square units

(¢) 2 square units

(d) g square units

Direction : Consider the following for the next
two (02) items that follow.

The equations of the sides AB, BC and CA of
a triangle ABC are x-2=0, y+1=0 and
x +2y -4 = 0 respectively.

57. What is the equation of the altitude
through B on AC?
(@@ x-3y+1=0
() x-3y+4=0
(c) 2x-y+4=0
(d 2x-y-5=0
58. What are the coordinates of circumcentre
of the triangle?
(@) (4,0)
(b) (2,1)
(c) (0, 4)
@ (2,-1)

[P.T.O.
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Pdw : o o g 3t (02) weiH % forg FrmferRag w
fa=m it

mw%m(m@m)%aaﬁaﬁg
(-2, 4) 3R (-2, -4) &

59. e (ctew Yazm) % @ i fig & w9 #

A fagsit ¥ afran 5 wEem @R W
Hhd &7

(@) Fad TH
(b) A
(c) =R

(d) Fd

60. W waedl % gy § Fefufed wa w B
Ffrg

13 mﬂ@wwﬁg(o, 0) ¥
ST R

2. ¥ ¥ wEed H A (Fra)
(2, 0) W & B

IF FoA # A P/ F-Y wh 2/E

(@) Fad 1

(b) 9 2

(c) 1 3R 2 3

(@ @ 1ARAH 2

DFGT-D-TMS/1A
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61. wﬁgp(x,y,z)wﬁgw(a‘hm)mm
¥R dfafdd #@ R 5 2=7 %, @ figay
(Frer|) T 27

(a) x-3& F FHIR TF @
(b) y-FE F FHIR F @
(€) z-¥§ F THIR T @

(d) xy-9d % GG UF GG

62. fr=fefan wydt w fer $iftw

1. 3ahg (We) ¥ w Y& ¥ oeg
Rp-srgama & v §)

2. Tl fifdm Y@ ¥ fow 9 Gy 2 B
Te-Framet F =t @ dvee, 39 T
Tep-Frart % 9w % auar A

I FYA H § P-w/AA-Y v 2R
(@ Fad 1

(b) e 2

(¢ 1 3R 23

(@ F@13ad2

63. xy-7, g (-1, 3 9) 3l 2 - 5 6) B e

T Y@TEE 1 e wER R w27
(@) iEheE ¥ 8§ 2: 3% rgum

(b) TR ¥9 R/ 3:2 % 37U §

(c) =TEa: 2: 3% U §

(d) =TRIG: 2: 1% g9 §
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Direction : Consider the following for the next
two (02) items that follow.

The two ends of the latus rectum of a parabola
are (-2 4) and (-2 -4).

59. What is the maximum number of
parabolas that can be drawn through
these two points as end points of
latus rectum?

(a) Only one
(b) Two
(c) Four

(d) Infinite

60. Consider the following statements in
respect of such parabolas :

1. One of the parabolas passes
through the origin (0, 0).

2. The focus of one of the parabolas

lies at (-2 0).

Which of the above statements is/are
correct?

(a) 1 only
(b) 2 only
() Both 1 and 2

(d) Neither 1 nor 2

DFGT-D-TMS/1A 23

61. The locus of a point P(x, 4 z) which
moves in such a way that z=7 is a

(a) line parallel to x-axis
(b) line parallel to y-axis
(c) line parallel to z-axis

(d) plane parallel to xy-plane

62. Consider the following statements :

1. A line in space can have infinitely
many direction ratios.

2. Itis possible for certain line that
the sum of the squares of direction
cosines can be equal to sum of its
direction cosines.

Which of the above statements is/are
correct?

(a) 1 only
(b) 2 only
(¢) Both 1 and 2

(d) Neither 1 nor 2

63. The xy-plane divides the line segment
joining the points (-1, 3, 4)and (2 - 5 6)

(a) internally in the ratio 2: 3
(b) internally in the ratio 3:2
(c) externally in the ratio 2:3

(d) externally in the ratio 2:1

[ P.T.O.
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64. fidve w1l = wel =Y 9+ e ¥ e A
weEA ot 87
(@) 4
(b) 6
(c) 8
(d) 34

65. ABCDEFGH & 914 &, fsrg#t snur ABCD
? W i A@Q 00, Bu2oo0),
C(12 6,0) 3R G(12 6,4) 3§ &) =R AB
AR AG F 19 F1 F0 o B; AC 3R AG H
meﬁﬁ,acos%+cos2ﬁ'ﬂqﬁ
w1 27

40

49

64

49

120

49

160

49

(a)
(b)
(c)

(d

66. 7F iR @, b 3k ¢ W wF Ry &
dxb, CW T2 AR 2 I B F 49w
aﬁweé,?ﬁﬁﬂﬁif@aﬁﬁﬂmm/‘ﬂ#l—ﬁ
a8 2/&?

1. dxb=sind 2

2. @ bxd=0

= fow e 2 1 e R wd I g
(@ %39 1

(b) e 2

(c) 1 323N

(d @ 1dAH2

DFGT-D-TMS/1A
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(d)

N3

68. A (d +b), d W e ¥ 3 b = whwm, @

uREm % E R, @ @@ +b)-b w oA
Toreh s 7

@ 0
(b) 1

(c) 8|a|?

(d) 8|b|?

69. WA Wi @, b IR AR TR W EFr &, B

am&’mavﬁu@ﬁ:rf%ﬁqaﬁﬂm—m/
FH-Y wd 2/E7

1. @xb)x2, a 3R b ¥ oy wvacha
2. @xb)x2, dxbWead

H2 fq 1 2 1 v w w I g
(a) F9a 1

(b) Fad 2

(c) 1 3R 23t

(d @ 13ad2
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64. The number of spheres of radius r
touching the coordinate axes is

(@ 4
(b) 6
fc) 8
(d) infinite

65. ABCDEFGH is a cuboid with base ABCD.
Let A(Q 0, 0), B(12 0, 0), C(12 6, 0) and
G(12 6, 4) be the vertices. If o is the
angle between AB and AG; P is the
angle between AC and AG, then what
is the value of cos2a +cos2f?

40
(a) 29

64

{b)ﬁ

120

@ %

160

Gl

66. Let d, B and ¢ be unit vectors such that
—
@ xb is perpendicular to ¢. If 8 is the

angle between d and g, then which of
the following is/are correct?

1. dxb=sin8?
2. d-bxd)=0

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

DFGT-D-TMS/1A 25

67. If a+3b=3-] and 2d+b=1-2j

then what is the angle between
B -
aand b?

(@) O

(b)

o3

(c)

wlA

(@

(SRR

68. If (@+b) is perpendicular to @ and

magnitude of b is twice that of d,
then what is the value of (4d+b)-b
equal to?

(@ 0
b) 1
(c) 8|d|?

(@ 8|bJ

69. Let 3, 3 and ¢ be three vectors such

that @, b and ¢ are coplanar. Which
of the following is/are correct?

i 2 {?z’xiﬁx? is coplanar with @ and 3
2. (@xb)x?¢ is perpendicular to axb

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

[ P.T.O.
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70. IR A 3R BF fufy wlew wvw: (W2 -7 - 73. WM Y £(x) T TFR F1 TF 9598 o & 76

A i+(W2+1)]% @ AB =1 w1 27 Fofl)=x* 21 (1) Fras soer &7
{Ct) 2'\{5 (a) 0
) 32 Gt
) 2
243
(c) 23 i
(d 3J3
74. lim “: +z: fra® TR B, Si&l a>b>1
n—e g -
71. IR &7
y=(1+x(1+x2)1+x*)(1+x8)(1+ x19) (@) -1
%,?hx:{)qt%?ﬂ%w%? O
fc 1
(e (d) 1 AR 7@ R
(b) 1
(c) 2 75. T SR
(@4 1+—x—, D<ixe2
Slx) = 2k
KX 2is et
72. 9} y=cosx -cos4x-cos8x &, Al x =Iwq
* 2 R lim fx) B A@E L, D kB AR
1Y o a7 *13
y dx w187
(@ -1 (@ -2
(b) O (b) -1
(¢ 1 () O
(d 3 (@ 1
DFGT-D-TMS/1A 26
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70. If the position vectors of A and B
are (2-1)i-j and
respectively, then what

magnitude of AB?

(@ 242
(b) 342
(c) 2J3

(d) 3J3

71. i

y=(1+x01+x2)(1+x*)(1+x8)(1+x°)

dy

then what is dx at x =0 equal to?

(@) O
(b) 1
(c) 2
(d) 4

72. If y=cosx-cos4x-cos8x, then what is

@d 3

DFGT-D-TMS/1A

{+(W2+1)]

27

73. Let f(x) be a polynomial function such
that f o f(x) = x*. What is f’(]) equal to?

(@ O

(b) 1
c 2

(@ 4

74. What is

where a> b > 1, equal to?

(@) -1
fb) O
() 1

(d) Limit does not exist

75. Let
X
14—, O<x<2
filx) = 2k
ke 2=2sx<4

If lim2 f(x) exists, then what is the value
x—

of k?

(a) -2
(b) -1
(c) O

(@ 1

P10,
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76. f(x)=|x|-1% Hag # f=fofgs s w 79. ¥ IR W@ W gRwie  wem

o #ifsrg f(x) = 1—sin x 1 WH 1 87
1. x=1% f(x) Gad 2l

2. x=0W f(x) HaFaa B (@ (0,2

ITYE FE A | BH-G1/PH-T T R/E? (b) [0, 2]

ik © 1)

(b) Fad 2 d .

e @ [-1 1]

(@ F@1RTd2
80. x=—£- o y=cos"1(cosx) # e

_lx ;
77. ﬂﬁf{x)—lxl, x#O%,W[]WT‘]ﬁ (ﬁz)ﬁm(@q)m%?
Had F fod a1 R, A x=1R f(x) H
afiqur dim = R7 F' O\
(@ -1 () 0
(b) O 81
© 1
[d x=1WR flx) F o & 71 sfe= (@ 2
7 #
o Tl 81. x? F HaY H f(x)=1+x2 +x? 1 wowa
: w87
f(x)=sin(—h2—), x#0
) X3 xs
¥ ey et o w e SR Sa Tl e
1. 3R f0)=0%, & TE x = 0 W Had &
2. -2 s x3 X
q?x—ﬁqt'ﬂﬁﬁ'al (b) ?+?+C
I FUE A A -1 /P-Y w2/
(@ ¥aa 1 ) x2+~’;—4+%+c
(b) HaA 2
(¢) 1 3R 23H PR
[d x*+2_+% ,c
(@ @ 1ARAH 2 2 g
DFGT-D-TMS/1A 28
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76. Consider the following statements in 79. What is the range of the function

respect of f(x)=|x|-1: f(x)=1-sinx defined on entire real
1. f(x) is continuous at x = 1. line?
2. f(x) is differentiable at x = 0. (@ (02
Which of the above statements is/are
correct? (b) [0 2]
(@ 1 only (© (11
(b) 2 onl
E @ 11

(¢) Both 1 and 2

(d) Neither 1 nor 2
80. What is the slope of the tangent of

caarl -1
77. If fix)= %, x # 0, where [:] denotes the y=cos” (EYP™: * 4 £
x

greatest integer function, then what is (@) —1

the right-hand limit of f(x) at x =17

(@ -1 (b) ©

(b) O ) 1

(c) 1

(@ 2
(d) Right-hand limit of f(x) at x=1

does not exist

81. What is the integral of f(x)=1+x2 +x*

- ‘d ].l i i
78. Consider the following statements with respect to x2 ?

in respect of the function

g[8,
f(x)=sm{—], x#0 : 3 5
x2 (@ x+ % + % +C
1. Itiscontinuous at x = 0, if f(0) = 0.
. . 2
2. It is continuous at x = —. 3 B
G i e
Which of the above statements is/are
correct?
2 x4 x6
(@ 1 only (€ x +T+?+C
(b) 2 only
(c) Both 1 and 2 ;AR

I e D
(d) Neither 1 nor 2 L

DFGT-D-TMS/1A 29 [(BT.9;
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82. IFaud (1, 2) § BT f(x) = x2 +1% gag A 85. R IJI—siandx=Asinx+Bcosx+C

Frfafaa oAt @ famm it g, el 0<x<45 3, @ Fafafes & @
1. e 1 3Aftswad 9H S ) FH-H1 w27
2. A & HaH 9F 2 B
(@ A+B=0
ST FE § ¥ BH-91/FA-0 G B/RT
A (b) A+B-2=0
(b) wad 2 (c) A+B+2=0
c) 1 3R 273F

(d A+B-1=0
(d Fd1IMIA2

86. T8 |yl dgdl ¥ IEwa wiww B AR

83. IR f(x), f()=F@) F THYR a1 g, @ (3fR) =1 B e am, fAdws a1t &
[ £ 00) cx ot wre 27 9T &7
(@ 1
(a) -1
(b) 2
(b) O
(€] .8
{al= 1
[ 4
(d 2

87. W wft g6t F FFa v A g (ff)

84. J’éelntcosxl dx T w27 :T:f;;ﬁﬁzﬁm et = v gty &
(@ -1 @ 1
() O (b) 2
(9 1 () 3
(@ 2 (d) 4
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82. Consider the following statements 85. If I-Jl —sin2x dx = Asinx + Bcosx + C,
in respect of the function f(x)=x2 +1

m /
in the interval (5 9 : where O0< x < i then wl"uch one of the

1. The maximum value of the function following is correct?

185,
(a) A+B=0
2. The minimum value of the function
is 2,

(b) A+B-2=0
Which of the above statements is/are

correct?

fcg A+B+2=0
(a) 1 only
(b) 2 only (d A+B-1=0

(c) Both 1 and 2

(d) Neither 1 nor 2 )
86. What is the order of the differential

equation of all ellipses whose axes are

83. If f(x) satisfies f(l) = f@4), then what is along the coordinate axes?
[ 7700 dx equal to? (@ 1
(b) 2
(@) -1
(c) 3
(b) ©
(c) 1 (d 4
(d 2

87. What is the degree of the differential
equation of all circles touching both the

84. What is E eln(cosx) g, equal to? coordinate axes in the first quadrant?
W - (@) 1
(b) © (b) 2
(¢ 1 (c) 3
@ 2 @ 4
DFGT-D-TMS/1A 31 [ P.T.O.

@ Teachingninja.in



88. y:A~§mmmwg?
(@ xy,+y =0
(b) xyp +2y, =0
(c) xy, -2y =0

(d) 2xy; +y; =0

89. j;‘ m[tan%) dx Toraa SR R7
(@ o

(b)

N | =

fc) 1
(d) 2

90. fig (0, 1) W IF y=e* A TW-t@l, x-3&
W el fierd 27

(@ (10
() (=10

¢ 0

@ (39

DFGT-D-TMS/1A

91. mf(x)=x+;1ﬂsééﬂﬁﬁ==f%rﬁ§am=ﬁ

q’(ﬁlﬁ'ﬂiﬁﬁﬂ{:

1. flx) 1 WHg Afeas 9m, @F
Y = 7 @ = R

2. flx) # WHE HAtEam 99 x=1 ®
B R

I FUE § A BH-T/EA-7 T R/R7

(@ Faa 1

(b) e 2

() 1 3R 23mi

(d Fd1IARTE 2

92. 2 g#1s () Frsm o forelt 9@ & sifera farg
S g A TR ga 1 Afman Sed
o187

(@) 4 I
(b) 6 TH
(c) 8 TE
(d) 16 a1 T

dx
x(x2 +1)

2
Lybe X ioheS
2 (x2+1

93. | foras s 27

(@)

(b)

(c)

@ 3

32
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88. What is the differential equation of 91. Consider the following statements

y:A—_f? inrespectofthefunctionf(x)=x+%:
1. The local maximum value of f(x) is
(@ xy+y =0 less than its local minimum value.
2. The local maximum value of f(x)
(b) xy; +2y =0 occurs at x =1
Which of the above statements is/are
() xys -2y, =0 correct?
(a) 1 only
(d) 2xys +y =0 (b) 2 only

{c) Both 1 and 2
(d) Neither 1 nor 2

89. What is J‘: m[tanf) dx equal to?
K 92. What is the maximum area of a rectangle
that can be inscribed in a circle of

(a) O radius 2 units?

(a) 4 square units

1

(b) 2 {b) 6 square units

(c) 8 square units
© 1 (d) 16 square units

; dx
93, What is | ————— equal to?

(d) 2 '[x(x2 +1])

90. Where does the tangent to the curve
y=e* at the point (0, 1) meet x-axis?

2
(@ %m[ x J+c

x2
(@ (10 (b) In|— +C
x“+1
{b) (_110] (
3 x2
(c) Eln 3 1]+C
© @0 LT
@ (-30) @ i "2“]+c
2, ) g x2
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94. e* % Hau H e° I fasherst FT B?
(@ e*
(b) e*
(c) ee

(d) ee*

95. fhd f&fd & fl)=x3 +x2+kx 1 HE

R 9 9 T8 am?
(@) 4k <1

(b) 3k>1
() 3k<1

(d 3k<1

9. AR fiy=2% &, A [[°L ) oy firms

flx)
27

(a) 4In2
(b) In4
(c) InS

(d) 8In2

97. AR [0 fax =k}, @ [1f 1 ax

(@ k¥ABRIR
(b) k@ =R
(o) KVBA T kTR B
(d) k3 aQA kF TR

DFGT-D-TMS/1A

98. AR WM f(x)=x2 —kx, A (L o) &
wHieEa: aduH R, @ Frafafea § ¥ f9-m
g 8?7

(a) k<2
(b) 2<k<3
fc) 3<k<4

(d k>4

99, y=[x], S@l [-] HETH Il %o 2, x-34 T
W@t x = ~1.5 3R x = —1. 8 AT ReE &
1 &A% 1 B

(@ 03 a8
(b) 0-4 T 515
(c) 0-6 91 318
(d) 0-8 = 3HTS

100. (1, 1) | 9% x2 = y H W@ x-38
YT v % |19 6 #vr s B PR
A -1 9 27

n
(@) B<g

(b) 1{;—<9<§

b4

T
c) —<B<=
(© 4 3

T b
d —<8<=
()3 Y3
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94, What is the derivative of e®  with 98.
respect to e*?

If the function f(x)=x2%-kx is

monotonically increasing in the interval
(1, =), then which one of the following is

(@ &> correct?
(@ k<2
(b) e*
() 2<k<3
gx ¥
ol (c) 3<k<4
(d) ee* d k>4
95. What is the condition that
flx)=x3 +x2+kx has no local 99, What is the area bounded by y=[x],
extremum? where [-] 1s the greatest integer function,
the x-axis and the lines x=-1-5 and
(@ 4k <1 x 8%
(b) 3k>1 - f{a) 03 square unit
(e) Blsd (b) 0-4 square unit
(d 3k=<1

96. If f(x)=2%, then what is j;o%dx
equal to?

(a) 4In2
(b) In4
() In5

(d) 8In2

97. 1f [ f(x) dx = k, then 15 1ax is

(a) less than k

(b) greater than k

(c) less than or equal to k
(d) greater than or equal to k

DFGT-D-TMS/1A 35

(¢) 0-6 square unit

(d) 0-8 square unit

100. The tangent to the curve x? = yat (L]

makes an angle 6 with the positive
direction of x-axis. Which one of the
following is correct?

|
(a) B<€

n n
— afrei—
{b)6

[P.T.O.
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101. 3 3 (3) E 3R F ¥ fou fisfefa 104. 9 8™ A, B 3R C 9 & w& R 5w 3y

stehi W fomm Hifs TE W WA T Y ' FA A WA
1. P(ENF) 2 PE)+ P(F)-1 FH: El,gaa‘rtp%auﬁmeawﬁﬁ
2. P(EUF) = P(E)+ P(F)+ PE NF) sl 223, @ p 1 A7
3. P(EUR<PE)+PH &
I e A B/ (@ %
(@) Fad 1
(b) Fad 3 (b) %
(c) Fas 13k 3
d 1,233 (©) _;
102. 3R P(A|B)< P(A) &, @ frfafes & @ BN
HH-F1 98 87 B3
(a) P(B|A) < P(B)
(b) P(B|A)> P(B) 105. & fpde B &, & g™ 9% T Qe 18
60 731 § 8 IR &I (B:) HRAT 2| 39 a4 6
(c) P(B|A) = P(B) w1 Wi & 76 39% g @l 18 et e &

a8 B&@l (B:) T 97
(d) P(B|A)> P(A)

2
(a) 5
103. S ¥ wgfi A 79 AT F w9 § 9y B, :
@ Frefafag § & fR-d wfaffa @ @@ ® L
Fftr fagedia i 219 99 #7 15
(@) R () ;
(b) WA fem € 5
(c) TS feraem
(@ 2
(d) <gd foeem 15
DFGT-D-TMS/1A 36
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101. Consider the following relations for two 104. A problem is given to three students A, B

events E and F : and C, whose probabilities of solving the
; 13
1. P(EnF)2 P(E)+ P(F) -1 problem independently are >3 and p
2. P(EUF)= P(E)+ P(F)+ P(E nF) respectively. If the probability that the
3. P(EUF)<P(E)+ PR problem can be solved is %, then what
Which of the above relations is/are i the vate, pligs
correct? 2
(@ =
5
(@) 1 only
(b) 3 only 2
(b) 3
{¢) 1 and 3 only
(d 1, 2 and 3 1
C, S
(c) 5
102. If P(A|B) < P(A), then which one of the \
following is correct? 1
; @ 5

(a) P(B|A)< P(B)

(b) P(B|A)> P(B)

105. In a cricket match, a batsman hits a six

(c) P(B|A) = P(B) 8 times out of 60 balls he plays. What
is the probability that on a ball played
(@ P(B|A)> P(A) he does not hit a six?
2
(@ =

103. When the measure of central tendency is
available in the form of mean, which one

of the following is the most reliable and (b) a
accurate measure of variability? 15
(a) Range
© =
(b) Mean deviation 15
(¢c) Standard deviation
@ o
(d) Quartile deviation 15
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T : o1 o Tt 3 (02) v ¥ forn FraferRaa w Fdw : o o A @t (02) weATE & forg Freeferfaa w

form Sy fomm Hifsm)
A weEw  (fdwm) W 3x-4y+8=0 3K forelt ffda fawg & 60 Bt g1 75 § | ww fFg o
4x-3y-1=0% T4 H N T § ¥ i fag T #
106. Frefirfian ot w Rram B - i Ferenfofat 0
5 15-20 4
L. xﬂlyiﬁ’f'ﬂmmi@y=4—x+2%| 20-25 5
25-30 11
2. YW xH wEE Y x= S y+ LR 30-35 6
S 35-40 5
40-45 8
IF Fol § ¥ BH-91/FA-A T R/E7 Bl 5
50-55 6
(@) e 1 55-60 4
60-65 2
(b) FaA 2
() 1323 108. Afee (Hifemm) = 87
(d @1 ARAH2 @ 35
(b) 38
107. Tr=fafgs FuE w fa=r $ifs
c) 39
1. H@'ﬁﬂﬂ"ﬁﬁn%?l
(d) 40

2. xR y% W FE9: 3 3N 4§

IFE FYA A BT/ FA-A T R/ 109, g () % &7

(@) ¥ 1 (@ 2727

(b) S 2 (b) 2773

(¢) 1 3R 23N (c) 2793

(d AdN13RTIA 2 (d) 2827
DFGT-D-TMS/1A 38
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Direction : Consider the following for the next Direction : Consider the following for the next
two (02) items that follow. two (02) items that follow.

The marks obtained by 60 students in a certain
Two regression lines are given as 3x-4y+8=0 subject out of 75 are given below :
and 4x-3y—-1=0.

Marks Number of students
106. Consider the following statements : 15-20 4
1. Thesregression line of y on x is 20-25 5
y=—x+2.
4 25-30 11
2. The regression line of x on y is 30-35 6
_ '3 1
Rty 35-40 5
Which of the above statements is/are 40-45 8
correct? 45-50 9
: 50-55 6
(@) 1 only
55-60 4
) 2 oty 60-65 2
(¢) Both 1 and 2
(d) Neither 1 nor 2 108. What is the median?
(a) 35
107. Consider the following statements :
A (b) 38
1. The coefficient of correlations r is —.
4 (c) 39
2. The means of x and yare 3 and 4
respectively. (@ 40
Which of the above statements is/are
correct? 109. What is the mode?
(@ 1 only (@) 2727
(b) 2 only (b) 2773
(c) Both 1 and 2 (c) 2793
(d) Neither 1 nor 2 (d) 2827
DFGT-D-TMS/1A 39 [ P.T.O.
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110. T [15, 64] § afds vquilH! %1 71E7 T 112. 10 Y&0ii 1 WA 5:5 B1 AR T 2F J&0 6l 4

27 ¥ o o fian Sie iR 44§ § ge fon Wi,
A T3 e =1 et

(a) 368 (@) 20

(b) 383 1788
(c) 34

(c) 395 i %

(d) 403

113. 3t 2, 4, 8, 16, 32, 64, 128, 256, 512,
1024 %1 IR A1 g R, @ Fefafaa § |

-9 A @7
111, gens TN\ e
X, % x+2 x+3 x+10
W& x T AR 8, % WYEE & fou (b) 16<g<32
Frafafaa # | FF-91/79-3 98 2/37
1. HIeA > e (c) 32<g<64
2. WifSmA > 71
(d) g>64
R fow T e ok SR I g
(@ Fad 1 114. 3f 60 3R x F A WA 48 B, A x *
= 1 87
(b) A 2 (@ 32
(b) 36
(c) 1 3R 2 M
(c) 40
.(d) dd1Rad2 (d) 44
DFGT-D-TMS/1A 40
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110. What is the mean of natural numbers
contained in the interval [15, 64]?

(a) 368

(b) 383

(c) 395

(d) 40-3

111. For the set of numbers

X x x+2 x+3 x+10

where x is a natural number, which of
the following is/are correct?

1. Mean > Mode

2. Median > Mean

Select the correct answer using the code
given below.

{a) 1 only

(b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2

DFGT-D-TMS/1A 41

112. The mean of 10 observations is 5-5.
If each observation is multiplied by 4
and subtracted from 44, then what is
the new mean?

(a) 20
(b) 22
(c) 34

{d) 44

113. If g is the geometric mean of 2, 4, 8, 16,
32, 64,128, 256, 512, 1024, then which
one of the following is correct?

(@) 8<g<16
(b) 16< g< 32

(c) 32<g<64

(d) g>64

114. If the harmonic mean of 60 and x is 48,

then what is the value of x?
(a) 32
(b) 36
(c) 40

(d) 44

[ P.T.O.
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115. Y99 10 ¥R vAqUIl! 1 A1 e @ 27 118. W 9@ H =+ Whma ¥ B whew
x2+x+n=0%3§mﬁﬁ$ﬂ,3ﬁnelﬂ

@55 IMn<4¥?
(b) 55 (@ O
(c) 10 1
)
(d 105 .
(c) 5
116. If (@ 51
10 10
Y % =110 3R Y x2 =1540
i=1 i=1 119. IR A 3R B W A ggm () ¥
2, @ v A7 P(Aﬁrﬁ)=%, P(B‘l'tﬁ)=1—36 s
(@ 22 P(AIB)=%%,?I’IP(B|A]%H%W‘E?
(b) 33 11
(a) 14
c) 44 g
(d 55 ®
© 5
117. 3% 1, 3, 7 F WM R (H H gEH :
foru fomn) 3-37f deand = S #1 @ 3

& %1 AGfes w9 A w4 b s ) 5
T H T WREG § 5 97 9@ 3 ¥ vy

A7 120. 9 s e R d wet W uw dfe A
Igfes® ¥ ¥ Wi st ¥ 38 5@ f ow
fa 0 wifewar ® o6 2 @l 2w T8 wh e
7
@ —
1 15
(b) 2 :
, (b) s
(c) = 14
(c) 1—5
1 13
(d) 8 (d) 15
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115. What is the mean deviation of first 118. What is the probability that the roots

10 even natural numbers? of the equation x2 + x+n=0 are real,
where ne N and n <4?
(@ S
(@ O
(b) 55 1
v
(c) 10 .
@ 105 @ 3
1
7z §
(d) 3
116. If

10 10 119. If A and B are two events such that
Y x; =110 and Y x? =1540
i=]

. 7 3
i=1 P(not A) = —, P(not B) = — d
ot 4) ~5e el T
then what is the variance? P(A]B)=-1%, then what is P(B|A)
(@ 22 equal to?
11
(b) 33 @
(c) 44 9
() 14
(d) 55 1
(c) Z
117. 3-digit numbers are formed using the (@ 1
digits 1, 3, 7 without repetition of digits. 2

A number is randomly selected. What

is the probability that the number is 120. Seven white balls and three black balls
divisible by 3? are randomly placed in a row. What is
the probability that no two black balls

(@ O are placed adjacently?
of
1 (@ —
= 15
® 3 %
B
(c) - 11
4 22,
fe) ==
1 13
) q 13
@ < @) =
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SPACE FOR ROUGH WORK

DFGT-D-TMS/1A 44

@ Teachingninja.in
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SPACE FOR ROUGH WORK

* &k K
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : DFGT-D-TMS Test Booklet Series

Serial No.

15620141 TEST BOOKLET
MATHEMATICS

Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300

1.

80

10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test Booklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

. All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(i) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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